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And the 3121 extracted the °2175p from her

OVERVIEW

The X773 stated that since WTpn 13277 RNVIR WP 79, therefore the 2201 can (when
they see fit) to be ¥’pon the PWIT°P retroactively, that there never was any U 7R
and they were never married. This can have serious consequences which need to be
addressed.

290U (x5 por) MNYIVN VI
I explained this in the beginning of r>w: poo.

SUMMARY
n1o0IN resolves the issues with 177°YPdX in 72w PIo.

THINKING IT OVER
Seemingly the concerns mentioned in 2%2:1 apply only to one who will be 5021 a
1°192 KW VA (since he can plan to make an 1YPox);? however here by 1072 OIIX,
one cannot plan on making an 01X, so seemingly the concerns are not relevant
here, so why does n1901n need to mention here that he addressed the concerns of
VPR in AW pao?!

! The x> there states that even though Xn»X72 one may nullify a 3 before a 7"2 (and he need not do it in the
presence of the m5w or his wife), nevertheless the onon enacted that if one is 2v2n a v3, not in the presence of the
M5 or his wife, the 51071 is invalid and the 03 is effective. There too the X773 states that the 0°»311 relied on this same
concept of (W7pn 11277 XNYIR WIpni 93 and therefore) 727 PWITRY 13279 WPVROR.

2 The difficulty of saying 1°vpaX by one who is 702n a 17192 R7w ) is that he can be Ymnx N2 5y 79mn and be 77w
o°Inn, by writing a v3 to his wife and then be van it Y192 X9w, so his wife (because of 171°¥poR) was never married
to him and she is not 7n°» 21171 for her Nt and her children from this Mit will not be o°n. The MdoIN there
addresses these and other issues. See ‘Thinking it over’.

3 See footnote # 2.
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